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o FUF T F A [ T FeT9H F FRT T 15 T
797 17 &7
Please make sure that the printed pages in this
question paper are 15 in number and it contains
17 questions.

o Jo7-uH H aled & @ N R4 T #E T @ A
IRl & JEI-g GT [d)
The Code No. on the right side of the question paper
should be written by the candidate on the front page
of the answer-book.

o FYT 97 F TV [0ET Y& FT @ Y, FT H HHE
T [e1E]
Before beginning to answer a question, its Serial
Number must be written.
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Don’t leave blank page/ pages in your answer-book.

FI-GRTH & SHRFT HF g he TE BAh o
STETEAFE & [Td ST ferar Fav 7 @

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written
answer.

THETE ST T To FeT-UH GT a9 g

Candidates must write their Roll Number on the
question paper.

FYFT J97] T GT 7 @ [d I8 GAd F o [ JeT-0H
g7 7 & 8 gher # I §6 a9 § FHE A @
&I TE [T A

Before answering the question, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be
entertained after examination.

G 65T -
General Instructions :

() T o7 Sfar &
All questions are compulsory.
(i) §F Fo7-99 T T 17 F97 &, W [F a-GS -
g ggovgdaeme:
que o7 : 37 U § g g7 8, forad
JHT % GG (i-xvi) FIT 8 TI%
g9 1 9% F & & FuY o
FTe-greT 4 g
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G T FTGTH2T6 T LT T I
&, qew J97 3 3T # &l

G5 G FHGEHT G 12 T ZT B T
&, qew J97 4 ST # &l

e T : 8% §13 § 17 7% 37 G
97 &, 9% FIT 5 STH # 8

This question paper consists of 17 questions
in all, which are divided into four
Sections : A, B,Cand D :

Section ‘A’ : This section consists of one
question which has Sixteen
(i-xvi) Objective type questions,
each of 1 mark. Write correct
answer in your answer-book.

Section B': This section consists of five
questions from 2 to 6, each of
3 marks.

Section 'C': This section consists of six
questions from 7 to 12, each
of 4 marks.

Section 'D': This section consists of five
questions from 13 to 17, each
of S marks.

TIT @ G FE [AFT 78 & @7 @€ T & q
goTt & ofaR% [Aaey kg 1@ 81 87 g97f 7 @
ST BT T & 797 FXA &

There is no overall choice, but in two
questions of Section 'D' internal choices are
given. You have to attempt only one of the
given choice in such questions.
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gue - 9

SECTION - A

fr=fafad § @ H9-9 gen oAy g@em 3 7 1

(4) 216 B) 336
(C) 88 (D) 4449

Which of the following numbers is an
irrational number ?

A) 2416 (B) 336

(C) 88 (D) 4449

90 &R 105 & H.C.F. & : 1
(A) 90 (B) 105

(C) 18 (D) 15

The H.C.F. of 90 and 105 is :

(A) 90 (B) 105
(C) 18 (D) 15

fEud 980 3x®-4x+6 & IR B ATHA
ST it 1

Find the sum of zeroes of quadratic
polynomial 3x2-4x+6.



4804

(5) 4804

(iv) Frefafed & | SF-a1 Soig 2o 06 g9 o ¢ 1

V)

A) x2/3+5 (B) %—1
X

(C) 2x*+3x+1 (D) x+li0
X

Which of the following algebraic expressions
is a polynomial ?

@A) x*3+5 (B) — -1

() 2x°>+3x+1 (D) x+lio
X

feama gl 2x2 - 7x+3 =0 @ fafadst sma
ity 1

Find the discriminant of quadratic equation
2x? -7x+3=0.

(vi) e THHT I 6x-3y+10=0 T 2x~y+9=0

% T Frewer & @ a8 1
() uRERd Y

(B) ®HiTY Y@M

(C) Hurh Y@

(D) T & F13 T
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(vii)

(ix)
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The graphical representation of pair of linear
equations 6x—-3y+10=0 and 2x-y+9=0
will be :

(A) Intersecting lines

(B) Parallel lines

(C) Coincident lines

(D) None of these

A.P. 4,10, 16, 22 .occvveen. % 20a7 I T

i) 1

Find 20th term of an A. P. 4, 10, 16,
22 i, .

3°3 3
figett (3, 5) @ (5, 7) & S/ & g4 B 1
A) /8 (B) 15
(C) /40 (D) 12

The distance between two points (3, 5) and
(5, 7) will be :

(a) V8 (B) 15
(C) 40 (D) 12
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(x) fogatt (7, 6) @ (-3, —4) B HAM A WS %
ne fog S i 1
Find the mid point of the line segment
joining the points (7, 6) and (-3, —4).

(xi) TR tanA:% 2, @ cos A H HN TG HT 1

4 ,
If tanA = 3 then find cos A.
(xii) sin 60° — cos 30° & AN A BT 1

Find the value of sin 60° — cos 30°.

(xiii) A BreurEvs & Ho7 0 B dl, g Freurvs @

BTGl B G BNl 1
0 o

(A) %nr (B) 2nr

(@] nr? (D) %xQnr

If the angle of the sector is 6 then the

formula for area of minor sector will be :

(A) %m) B) 2nr
(C) =r? (D) LN
360

P.T.O.
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(xiv) Th i H I O &% HIG e forEe!
Brear g fodi® SarE FwsT: 4 9 dor 3 & B o

Find the curved surface area of a cone
whose radius and slant height are 4 cm and

3 cm respectively.
(xv) 3 P(E)=0.01 &, @ P(E) & A 5 Hio 1
If P(E) = 0.01, then find P(E).

(xvi) T8 @ Th SR SBEH X €& 8 W & @l
TR S ShifoTg| 1

A die is thrown once, find the probability of

getting a number 8.
gug - §
SECTION - B

2. 867 d 255 H Fie QWS THRH BRI HoHodHo
(H.C.F.) §q it 3

Use Euclid's division algorithm to find the H.C.F.
of 867 and 255.

4804
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t2_-15 %

(9)

ol & S & HeH B qd H S B

Find the zeroes of quadratic polynomial t?2-15
and verify the relationship between the zeroes
and the coefficients.

4. A9 P g A e 7 @ fawew € 7

How many three digit numbers are divisible by 7 ?

5. f@EUT % : tan48°tan23°tan42°tan 67°

4804

L S IO SR Fh! e

3

3

3

Show that : tan48°tan23°tan42°tan67°=1

6. f=foied arell el eregare H o QW v § w6l ge

ARG &t g I a8 3
g (a0t #) |5-15|15-25 | 25-35 | 35-45 | 45-55 | 55-65
WA AT 6 | 11 | 21 | 23 | 14 5
ST SiHS! F AT A BT

The following table shows the ages of the patients

admitted in a hospital during a year :

Age (In Years) | 5-15 | 15-25| 25-35 | 35-45 | 45-55 | 55-65
No. of Patients | 6 11 21 23 14 5
Find the mean of data given above.
4804 P.T.O.
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gue - §

SECTION-C

7. GHECT & W= W @ e ST 4

g+__13 aﬁ? 2=
y y

Solve the following pair of equations :

g+§—13 and é—i=—2
X Y X Y

8. I dEel # SR 26 B IR TH @E @l € &
a9 T 31 3% S i) 4

The difference between two numbers is 26 and

one number is three times the other. Find them.

9. x- W Te fIg o HFC & (2, -5) AR (-2, 9)
TG & 4

Find the point on the x-axis which is equidistant

from (2, -5) and (-2, 9).
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10. k & 94 4 & Ik /g (7, -2), (5, 1), (3, K)
TG 2 4
Find the value of k if the points (7, —2), (5, 1), (3, k)

are collinear.

11. % JO&R @&d W 24 Fo Ui Hiel & & § 8 TN
H &g 5280 o B 3T ©d P 0.50 Ho Uiy i Hiex
% W AR B3 AW 81 Td B I BT B AT
EIRECD(E LY 4
The cost of fencing a circular field at the rate of
© 24 per meter is ° 5280. The field is to be

ploughed at the rate of * 0.50 per m2. Find the
cost of ploughing the field.

12. 52 TR @ oHl YR ° Bel TS UH TG H F TH G
frr Sar 31 Frefaiad @ o & @ ok s
T 4
() U9 & TaH
(i) T T B TER @0 =@

(iii) BHF B A
(iv) 3¢ # W
4804 P.T.O.
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One card is drawn from a well shuffled deck of

52 cards. Find the probability of getting :
(i) the jack of hearts

(i) a red face card

(iij) a spade

(iv) the queen of diamonds

grs - §
SECTION-D

W A H e Qe S S Ree o
%1 IR 290 &I 5

Find two consecutive odd positive integers, sum

of whose squares is 290.

39 A.P. & 3191 U5 1A T e 11471 1€ 38 &
3 1641 TE 73 Bl 5

Find the 31st term of an A.P. whose 11th term is

38 and the 16th term is 73.
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15. HMR & oMYR § X U &7 WM & 4 Hiex aR 9 Hiex
P W W Ryd @ fogell 8 4R & ReR & I=1g9
FOT T& T o1 g HW F TR & HE 6 HX
2l 5

The angles of elevation of the top of a tower from
two points at a distance of 4 m and 9 m from the
base of the tower and in the same straight line
with it are complementary. Prove that the height

of the tower is 6 m.

ST
OR
R #ifvT 5
(cosec 6 — cot 6)? _Lzcos®
1+ cosH
Prove that :
(cosec 8 — cot 6)? _1-cosb
1+ cosH

16. T 9% & &% @ fde HaE 4 & B a0 369 gud
Rt & oftaa (aRkfEEn) 18 & ofR 6 &t 31 3 fomie
T I O SAEA G HioTU 5

The slant height of a frustum of a cone is 4 cm
and the perimeters (circumferences) of its circular
ends are 18 cm and 6 cm. Find the curved surface
area of frustum.

4804 P.T.O.
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17. SfaRad aATws! H1 AT S PN ¢ 5

Tl Sfr |65-68(68-71| 71-74 | 74-77 | 77-80 | 80-83 | 83-86

RERAT 2 4 3 8 7 4 2

Find the median of the following data :

Class |65-68|68-71| 71-74 | 74-77 | 77-80 | 80-83 | 83-86
Interval

Frequency| 2 4 3 8 7 4 2

OR

i ISIeSICIECIRGIICES BCIIC SR ISR 5

I I | SRR

40-45

45-50

50-55

55-60

60-65

65-70

N| Wl & O] 0| W| N

70-75
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Find the mode of the following frequency

distribution :
Class Interval | Frequency
40-45 2
45-50 3
50-55 8
55-60 6
60-65 6
65-70 3
70-75 2
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